Sorting Functions "[j_

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table Rule
A C B 4
B D A C
c b C D
D A D p

2. Explain how you matched each of the four graphs to its equation.
Graph A Crrapt,/) 1sn'Fa lipear equ(l//m Jnte i ish¥a 5*/6//4%/ /4

so there mucH be a Squared in fhe equation. | Yool /2 l/)cwl
'@und e relariin S}'vfa be tuee s #e Xy7 >/ /X?_

Graph B @mlp h& a erFm;cI:H' /Me,. ysa lirear eq uation =Y -2

1S ’H'cmfj [irear eg:tzq/—)fm (n the cho/ces

Graph C §ra;>k Cis side woys, So it Lk eqya tinn B. >/7¢,x

g He Sume as ye <. Sihe X cant be aneqatice # (Yheut
ho A of a nezm}//é nutper) he_maximum Xoo//)% i O, 48 Shown n
Graph D §f4pﬁup has 2 ;epara/e lines Which l‘;P; e ud 10N jm}f’
A _sie ke héc/df/l/ﬂ N/// J?Lﬂw in_He all reqative guqdians |
and_fhe Dowht/(f Wil SM}/ 4 7“6 al mgh% 7(1516//27/7}'
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Equation A Rule A
| B Table A
=2 yis e
coo\e/ x|-2[-1]0]1[2]3] |same asx
o e S v 14320 [7] | multiplied
Graph B Equation B Rule B
i Table B '
y*=x X
x[-2-110]1123 multiplied
y|4|1]|0|11]4|9 by yis
equal to 2
Graph C | Equation C Rule C
N Table C
5 .
g - _ 2 yis 2 less
0|x1|£4+3 4
R I
Graph D Equation D Rule D
Table D
y=x-2 x is the
x|-2/-110(1|2|4 same as y
y -2z« 2]1]0.4 | multiplied
by y
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Sorting Functions Tg Z

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table Rule
A C (2

B D A
C 2 C

D A P,

2. Explain how you matched each of the four graphs to its equation.

Graph A TWSQ\J(@V\ shawed thok Qx sach Y- Va\‘ug Ylore wefe 2 y-valucs.
The equation wos C becauce wou could put a */- nuwmbes of .Y but te
o-value would he the same?

Ths o was \ bl selution w:hak ever
Graph B \\6 A was, \mﬂ)\()’SO Nere was, Ov\\tﬁs one :‘P wle selu ‘ w: hak eue
fumber you plue 1n. The “{.*‘if\\w@*’ wae - 2. F %“C‘L“"“ mafched e

Jg%«xuew,n\‘s'

Graph € This auajh Showed ot fot eadkh X-valut, Mere could'oe buo y-valus .
ke e(éuai'cm was B e Tke guaton € W s guatutic malching
M quidiatic  guagh

Graph D ﬂ\’!& airqph was, Q&u&‘(iom A) since A wxe Re Oilj
ove left.
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Equation A Rule A
; Table A
o Xy =2 yis the
e/ x]-2-1]0]1]2]3] |same as x
~~ e by x
Graph B | Equation B Rule B
[ A Table B
' y?=x X
x1-2[-11011]12]3] | multiplied
equal to 2
Graph C - Equation C Rule C
' Table C
‘ H- ;6‘ . . . . v ’ . I
T I yis 2 less
y 10 [1|£13 4
6 -4 -2
GraphD Equation D Rule D
Table D
y=x-2 x is the
x[=2[-110(1(24 same as y
y|[-1[-2]t=[ 2 [1]0.5 | multiplied
by y
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Sorting Functions I :;

On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table Rule
. L B A
L ) A C

c % L
D k D

2. Explain how you matched each of the four graphs to its equation.

Graph B han osr \f.,»wl T L@&ag

j\‘k_%mw PKN\ R A ‘V\P f&f%)}'\ H\c Inc miﬁ f,
ﬂv |

o \) C\m%
GraphC \\mc, %h\n\ 1S ké ((}Mn)\ A ‘f)u c;)Aﬁ:.m\gL, an \MQ/’

Graph D ) ow ,Cm%e' ‘ T m])’\p jr\w X o @J'Dm the

khgi gﬁ&“ m @ Aak ﬁx\\nuﬁv n L

Copyright © 2011 by Mathematics Assessment Page 6 CCR7
Resource Service. All rights reserved.




T3

Equation A Rule A
N Table A
- Xy = 2 yis the
- - x|-2[-110]1]|2]|3 same as x
% & v -4-3[-2[-1]0 7 multiplied
0 {
aph Equation B , Rule B
S e Table B
y>=x X
x|-2[-110|1]2]3 multiplied
equal to 2
Graph C Equation C Rule C
B Table C
6 ) ,
g e e _.0 yis 2 less
y |01 +3+4
6 -4
O
Graph D Equation D Rule D
Table D
y=x-2 x is the
x|-2[-110[1|2|4 same as y
y|-1]-2[t={2]1]0.5 | multiplied
( by y
% 4
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On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table Rule
A C A
B | D
C | B
D | A

IO >R

C
D
B

2. Explain how you matched each of the four graphs to its equation.

Graph 4 _\ found (2.4) on the graph ound
‘SW’\C& L":l" A H’\e @C{\&d"‘iﬁv\ S i :-.xv‘ﬂ.

w

Graphe | _fourdal (-2,-4) on Yhe graph aund
Snce - H=-2-2, the tquation 1§ Y=x-2

graphc | fownd 4,2) auwd (4-2) and since

g « 2 & 6'2.\’L +he E‘%ua‘hm 85 \j‘?'r- x

Graph D
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Equation A / Rule A /
S / Table A /
- - 20-1loli11213 same as x
e & -4 -3[-2[-1] 0] multiplied
Equation B / / Rule B ./
Table B /
y> =x X
-2[-1101112]13} | multiplied
equal to 2
Graph C Equation C/ Rule C /
- | Table C./
€ oy
4 _ .2 yis 2 less
0 |£1|+2+3+4
s i
Graph D Equation D / / Rule D /
Table D
y=x-2 x is the
2[-110(1]2|4 same as y
-1]-2f¢ 21 0.7 | Multiplied
by y
Copyright © 2011 by Mathematics Assessrﬁent Page 7 CCR7

Resource Service. All rights reserved.
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On the next page are four graphs, four equations, four tables, and four rules.

Your task is to match each graph with an equation, a table and a rule.

1. Write your answers in the following table.

Graph Equation Table Rule
A C B B A
B P A C
C B C P
D A D B

2. Explain how you matched each of the four graphs to its equation.

Graph A T alveady enew the geapr ¥o be \-x* fievie vny algebra dace, but jvdl 4o be

cevdain \ p\uqqed (ome boints on the fine \nio y=x? (24) =Y 4:1* - 44y v (L) —
1 H

= (V= =1 v Thee poinic wovked, (o T \wyote down @quanon(

Graph B thi¢ qmyh wae 4 hinear Equdhon, wirh a ﬂm:e of \and a y-inveyeepy of -3,

(0, ueing ¥ne crandard equdiion Yovox v — y=x=2, 1 found ihe equahov for Yhe

Qv dph. Yhir eguqhion warined equation D, <o T wiit€ D dowit,

Graph C 1 figured {ne’ equapon for tnie graph wowld be comewhat veverse of ne

eguakion fov Graph A, <ince the (hape Wac Like that of a q»\qd'.‘c\’r\‘c, bwl yofated Gee

Y% ceemed 1o BiY {ndy, and T alse p\gqed (ome pornts on GYaypnr( \nby \J’»:x. (4.-2) -
AN IS Y AV QUL e L L W T 1 The pointe wWorked, €o T Wote equdhon B dowa.
Graph D ©£xen Yheagh T wad unfaywiiinidy with the chape ¢f Graph D, €4vahonA

Was Yhe ony M\thh‘ ettt ndtch with g4 qiaph, o bhevefre Graphn D and eqvmhm

A vnirt g YogRingr T ale pwgged in paind¢ fiom quaph D into ¥y =2 (2,4) —
2 =2 =222V () v (1)) 22 > 222 v Thege poantd wovked, (o T write
gquahion A down.
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Equation A Rule A
Table A
Xy =2 yis the
2[-1[o]1]2]3] |same as x
-4 -3[-2[-110]1 multiplied
by x
Equation B Rule B
Table B
yex X
2|-110111213] | multiplied
411(0(1]4/9 by y is
equal to 2
Equation C Rule C
Table C
- 2 yis 2 less
y=x o[1]4]9]14 than x
O [x1[xq+3 14
Equation D Rule D
Table D
y=x-2 x is the
2[-1]o]1]2]4] |sameasy
-2t 271 ]0.4 | multiplied
_ by y
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